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O%‘JIXﬂ(8 AZHEEH) Zu2feY
9,160 x28H +28A| 2tx 122 86,178
JlE23al 174,575 144,850 29,725
J|1E23&H| 174,575 144,850 29,725
201 Let23| 120,815 100,570 20,245
01 AtR2elt] 111,000 92,880 18,120
ORM2III2Z| 33,480
—Bt=ZH| 40,0002 *31¥+ 122 14,880
—= | 50,0003 318+ 12& 18,600
ODZLH9 Hlatatsal 23|
100,000& *12& 1,200
OIDZLH9 H| &2 S20HAld]
6,000,000& = 12& 72,000
OZ2LH9 ORtZ 2L S 2taltl
3,000 x4 «30L 122 4,320
02 32| 9,815 7,690 2,125
ORERI 9,815
— Yot H 430& 14,000 6,020




FA agdae|
3 dZyRIPH(ZE2eln)
=l Jl=3H| (St &)
~ _ q 4
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
—SJ1d 2,530& *1,5004 3,7%
202 04t 45,720 37,440 8,280
01 2LHOIH 45,720 37,440 8,280
OgRFa|=0H|
120,0003 <31+ 12& 44,640
OZSH 2} L4TH HE8LY Ol
180,000 «6& 1,080
203 HR=H] 8,040 6,840 1,200
M EA2ER=A 8,040 6,840 1,200
OFAESIERFa|
(400,0002445,00024 +54% )« 12 8,040




